SAT Practice Questions: Special Cases Kej

Question 1: ,u'a‘{' @-ﬁ,}( A+ m>
O b -(a-b)(a+V)

In the equation above, a is a positive constant and the graph the equation in the xy-plane isa
parabola. Which of the following is an equivalent form of the equation?

a) y=x—a)x+a)
b) ¥ = (x + V&) (x ~ Va)

) y=@+)x-2)

d) y=(x+a)? ot - b’ (g, -h) (a*\a)
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Question 2: Lux‘)_)“‘_ q (L\ X-q ( NX ) )
Which of the following expressions is equivalent to 16x* — 817 (z x- 3\ (Z“‘ 3) (L\x *q
a) (4x° - 9)(4x +9) -b) (Q*b

b) (2x — 3)(2x + 3)(4x2 —9)
¢) (2x — 3)(2x + 3)(4x% + 9)

d) (2x—3)*

Question 3: ko-fb)" - o"' + 2 oh +¥

Which of the following is equivalent to (a + —)27 b
a)a2+b— a+xah-+(>
2
) a2+ 2 0+ 0b+ o
4
c) o2 +-az—b+b2—2
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